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Ha: =0l #N MO CO(SHDY)(LUNIIHT/UUHE)
&€ gAasid (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
E0E 28450 2ol
50,0003 20 CH *50% 500
02 =224l 587 490 97
OYALSTY H2(HLR) 2Y
1,630 62| EH »1CH «603! 587
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01 M= 4l 5,680 5,292 388
OLAAE 5|48 RF(IR) 7Y
1,420& +802| H *50 5,680
=00 HMES 2 MDY (BnH)(FELRAMNL/X 267,284 246,565 20,719
AU Al)
FU=2AAMY =& 76,996 74,225 2,771
FOME SHMHA ALY 76,996 74,225 2,771
201 L4l 6,996 4,225 2,771
01 At 2t 2l 3,840 1,440 2,400
OLE H&Z2R =8 § S204lH|
8,000& x16H 30 3,840
02 =224l 3,156 2,785 371
Ostoll & MAZEEl #2l - X2l
1,000, 000& 1,000
Ostai el ¥+=THl RFTUH(FALR)
1,630& x202| E x203| 652
ONM&ZH KRR 1,504
- g 1,630& 402/ H 10 652
-3R 1,420 x202| B *303] 852
401 AIEHI L 2 CHYI 70,000 70,000 0
01 A& HI 50,000 50,000 0
OAnE M0, SHHA ALY
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03 A& =2 THHI 20,000 20,000 0
O2LA2 Mol € E2=+ FH Y=
20,000,000& 20,000
28 el 113,280 105,840 7,440
2SS KA ¥ B 113,280 105,840 7,440
201 L4 85,380 77,940 7,440
02 =224l 85,380 77,940 7,440
Oodtzs &= 85,380
-3 A 7,500 +890S 128 80,100
A g0l 11,000& x40+ 12& 5,280
401 A& HIZ 201 8] 27,900 27,900 0
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M F=0I0 OFMES 2 AN (S DH)(ZELYX MY LAl
S HHSEHIE 22 (&9 &)
_ _ _ SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HHamTx 2 5,864 5,582 282
4o 29 5,864 5,582 282
101 Q124 H 5,864 5,582 282
04 JI2H2R2EEL 5,864 5,582 282
O tiaEHIR 220082
73,2802 x2 % x20 2,932
OMn 42T X 2o
73,2802 *2 % x20 2,932
M=Kl & 5t 17,000 11,600 5,400
MKl =yl 7,000 6,600 400
401 Al HI 2L 2 0HY 7,000 6,600 400
01 A& H| 7,000 6,600 400
OXN%X EFE2HA & EHIIIAIY 7,000,000 7,000
A5t HH| 10,000 5,000 5,000
401 Al&HI 2 200 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
OA6td g RE =4 5,000,000 5,000
Ostnd Z2MH L EHIJIALY 5,000,000 5,000
22 9 =28 JR)| 45,329 40,625 4,704
oigsss 2,052 1,954 98
101 @124l 2,052 1,954 98
04 JI2ZH2R2NEE S 2,052 1,954 98
OJ}zdEAr S 0y 73,2802 x282 * 1 2,052
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101 Q124 H 28,674 26,557 2,117
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O&tstz2t T2W U 23516 ZH|IJ| AP (10km)
179,000 182 x23) 6,444
OZ% 3, 5, 1084 ZHIJI A (23km)
179,000 122 x23) 4,296
0= SHES2 ZHIII ALY (12km)
179,000 122 x23) 4,296
OJNZotE L ABA(10HA) |X22
73,2802 x50 %23 7,328
Olso = sx2el 73,2802 x20% *23] 2,932
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6,000 *3000H 1,800
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QU Il &4 1,630& 3002 &1 489
401 AIEHIZL 201 Y| 2,000 0 2,000
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O3d & E=z8 22| &H Xz
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206 M = dl 6,554 6,554 0
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Odlz, X 258 360,000& x12& 4,320
OZed, =SAIl, 287 8 =8 & 423
-2 700,000& =128 8,400
02 2324l 2,958 2,730 228
OMEH RBR= S 2,958
- gdpteH 4003 300 128 1,440
s|<d# 2,5303 50 +128 1,518
202 Odl 51,360 46,560 4,800
01 = LH 4 Hi 3,360 3,360 0
OAZ W 2 3A&FH F2 28 20 LI(
220) 70,0003 x2& 123 1,680
O S 4 IHZAASEER =& =UHAH
Hi(22l) 70,000& «x12& 840
OXFE=EX MUlA 22 =8 FHALI(22)
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